


| IpAMOyronbHas
cucrtema
KoopaAuHart

HaymoBa M.H. — yuntenb matematumku
MQOY «KopHunoBckasi cpegHsa wKonay,
ApxaHrenbckasi 0bsn., BepxHeToeMCKum p-H,
n. [IBMHCKOMN.



0,7-28= -3,5
1,3-27= .14
by 3,8-10= .62
-+ 0,7(2)= .44
K T 04+1= 0.6
O | /
:_;' B -7:2= .35
M AI5 1644
o+ o 08+5=
n T oy -108:(3)=
[ | R 08-(-16)=""
.} l ‘|10__ — _pa8:12=  °
T 341 +]34]="""
-45+23]= ©°%
MANASI MEABEOWLA |- (-1,4) | = 22

-1,4






«OTKpBLIach Oe3Ha
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(3; 7); (2;6); (1;3); (5;2); (5;2); (10;2); (7;95); (2;6)

(7; 5); (5;2)
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(1; 3); (3;95); (5;3); (7;3); (9;1)
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(1; 1); (6; 3); (8;2); (10; 3); (11; 4); (12; 6)

(6; 3); (7;5); (7;7)






O

| mun — cunbHbI 4 \
Il mun - Il mun - cpedHul

(8bINyKIbIU 2pachuk)

cpeodHe - CUsIbHbIU

(pOBHbIU, MPOMEXYMOYHbIU)

b

\/\/

IV mun -
cpedHe - cnabbiu

(602HymbIl 2paghuk)

~

\

V mun - cnabsbii
(Hucxoosawul epaguk)




